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Education

Paper II

LEEIEURZ]
gyutrent 11

Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions, each question

[Maximum Marks : 100

carrying Two (2) marks. Attempt All questions.

U SRd. @d U Wi

GOl : A TRAULThd THY U (50) gl TEd fonl STed. Uoieh TR g (2)

Selection of a tool for research is

dependent on ............

(A) Sample of research
(B) Objectives of research
(C) Population of research

(D) Analysis of research

‘It is as short as possible and only
long enough to get the essential

data’ is a characteristic of .........
(A) a good questionnaire

(B) an attitude scale

(C) an interest inventory

(D) an intelligence test

HelgAEe= WA fae

AT ST

(A) SFENEAT THATEX

(B) TeMeATe SfEseer

(C) HINEATAT TTHEIeR

(D) YN YhRIeR

‘g1 fadqent St (SRHT arsE) ST
ST defal Hifsdl (Data) fHesvargaud
I AW (S ArerE) oEd. ! ®
............... S S—

(A) =TT TS
(B) Afyyeit Soft
(C) orfre=t Smfeent

(D) dfgaan ==

[P.T.O.



Educationists need to Dbe
knowledgeable consumers of

educational research to ...........

(A) keep abreast of the changes
and improvements in

educational research

(B) be a modern teacher

(C) have in-depth knowledge

(D) make the class interesting

Scientific theories are developed

through ............

(A) Tool construction

(B) Applied research

(C) Fundamental research

(D) Action research
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Torerorssin Srerfurer G I Uew

(A) Dregforer e sga o g
I JE SATIEA B0

(B) smyfisk forerss 21

(C) HEllad 99 319Ul

(D) ot srfue=t qof g

(B) 3SUAIfSId e

(C) TAYd e

(D) el GG




The entire mass of data being
considered for research maintaining
the characteristic of the population
is the advantage in ............

(A) Lottery method

(B) Census method

(C) Systematic sampling method
(D) Quota sampling method

‘Data analysis is simple, responses
can be directly compared and easily
aggregated and many questions can
be asked in a short time.” This is the
strength of ..........
(A) Informal

interview

conversational

(B) Interview-guided approach

(C) Closed, fixed response interview

(D) Standardized open-ended
interview

An operation by which data are

organized into classes and number

of symbol is given to each item to

the class in which it falls is

(A) grouping

(B) classifying
(C) decoding

(D) coding
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el foraRTa Saeiean Syt Afedae
GRS el S0 @1 T

(B) SOAT 9gd

(C) Trwerg 1 fere ugd
(D) fafdserer g frae vsd
‘mrfedt faversor W9 3Hd. fHace

wifed= g wIAT Ad ST HgSTqol
THHd HLdl Id. ATST doold ST T9H

(A) SHMIAIRE FUTOOMHS  TeATEq

(B) WFiGieid Homed

o o

(C) dfcw, Ffvea wfaare gemed

w1 fhdmen wehferd Hfed= (Data)
o T (Item) @ STad st
TIOR §9ed &ed fafay fax et
W} =l -@')—ag ....................... 3@
R GIGH

(A) T TIR HO

(B) ofisheor =hY0l

(C) TH:Hmenfaentento

(D) TTehfdeheh Tl

[P.T.O.



10.

............... statistical technique is a

non-parametric technique.
(A) Pearson’s r

(B) ANOVA

(C) Chi-square

(D) ANCOVA

One-tailed test statistics is used in

case of a ............

(A) Directional hypothesis

(B) Non-directional hypothesis
(C) Null-hypothesis

(D) Question form hypothesis

The following are the measures of

central tendency :

(A) Skewness and kurtosis

(B) Standard deviation and
dispersion

(C) Measures of location within a
distribution

(D) Variance and average

deviation

10.
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AT TRt ¥ srafifad
a5 IR,

(A) Tae@==n r

(B) ANOVA
(C) HF-Thal
(D) ANCOVA

o (aV

qel ThY=S HuEl AT
SUYH I
(A) feemeeies qfehed

(B) @ifcemesish RehedH

(C) I Tfehed

(D) WITEEY GehegH

o oo

EeTedeh! IO el Yaxirel aiam

Rd ?
(A) foofgaar anfor Rrergm™

(B) w1971 fa=e 3o 3R (Disper-

sion)

(C) faaeondia TumAfy=d=t afiEmn

(D) 99U (Variance) 30T SEd
oo™




11.

12.

13.

‘Knowledge is a virtue.” This

statement was stated by ........
(A) Plato

(B) Socrates

(C) Mahatma Gandhi

(D) Rabindranath Tagore

‘There is no ultimate truth in the
world.” This statement is one of the

assumption of ...........
(A) Idealism

(B) Pragmatism

(C) Spiritualism
(D) Naturalism

Instrumentalism is the name

(A) Pragmatism
(B) Idealism
(C) Realism

(D) Spiritualism

12.

13.
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(A) =T

(B) Wishfeq

(C) were medt

(D) g MR

forwaTE ShIvRET SifeH T L e

[P.T.O.



14.

15.

‘Man is a social animal.’ This is not

a beliefin ............

(A) Realism

(B) Existentialism

(C) Naturalism

(D) Idealism

To search the ultimate truth is the

subject of study in ............

(A) Ontology

(B) Epistemology

(C) Axiology

(D) Ethics

14.

15.
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‘TS 7 wEeRiE WO ST AR

(A) T

(B) 3tfdcrare

(C) Trtare

(A) TREHTHEET

(B) AHHHE=T

(C) HeoHHIE=

(D) ST




16.

17.

‘Education should be linked to
productive work.” This statement
is a reflection of .....coeevieeiiin...

philosophy.

(A) Marxism

(B) Fascism

(C) Capitalism

(D) Socialism

‘The world is full of sorrow.” This is

one of the ultimate truths given

(A) Jain Philosophy

(B) Buddhist Philosophy

(C) Vedic Philosophy

(D) Upanishad Philosophy

16.

17.
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‘foreror ¥ ScUIee wEEN Sied T

(A) HERIETET

(B) wfagme

(C) vSadarc!

(D) FHSER]

‘Td fova T @M W Ui oTR. ' ®

Coffam g Fiffidelel 3R

(A) S9 IR

(B) dig dxoRHM

(C) dfceh dwaamM™

(D) SUMSEE aa=A

[P.T.O.



18.

19.

‘Religion is the innermost core of

education.” This statement was

stated by

(A) Shankaracharya

(B) Sir Aurobindo Ghosh

(C) Rabindranath Tagore

(D) Swami Vivekananda

We give equal treatment to all the
people from different religions

because we have accepted

...........

our constitution.

(A) Justice

(B) Equality

(C) Secularism

(D) Fraternity

18.

19.

MAY - 70216/II—D

‘o 1 foeUE AU T TR

(A) Y=

(B) W Rfag =

(C) Tagg 2R

a o

(D) @™l T4

JhTS

3T Hel gHidtel skl THH 1 <,

(A) —rT=n

(B) 9HMd=N

(C) ywfTTerT=n

(D) aga
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20. Any school which receives grant

21.

from State or Central Govt. cannot
compel the students to participate in
religious activities in schools. This

is stated in the of the Indian

Constitution.

(A) Article 25

(B) Article 29

(C) Article 30

(D) Article 38

‘Concept of knowledge is primitive
and undefinable.’ This statement

was stated by ...........
(A) John Cook Virsan
(B) Russell

(C) Mill

(D) Hume

MAY - 70216/II—D

20. HIVITE! M i ST AHLEATRSH Tohall

21.

SRR S TR Bd 318 - Tl el
feranezin wmesHe enfHer RTATEIST Herit
FE Thd AL € A ToEEAd A

FAaqEed ool 3Te.

(A) = 25

(B) hetH 29

(C) =i\ 30

(D) ©hetH 38

TR Geheu T B STfeH J TR

ST oTe.’ ¥ faum
(A) S e foad
(B) W

(C) faa

(D) &gH

11

[P.T.O.



22.

23.

Logical positivism is the reaction

against :

(A) Naturalism

(B) Pragmatism

(C) Idealism

(D) Realism

been

Ashramshalas have

specifically established for the

education of :

(A) Rural children

(B) Girl child

(C) Gifted child

(D) Tribal child

22.

23.
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difehen JeaaydaTe f

3.

(A) frtare

(B) wriaTe

(C) 3Aesiare

(D) drad]

(B) el

(C) YJEH oA

(D) Tfearst qed

12
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24. ‘Education for democracy’ implies o4 ‘@ S e g
that education teaches you
T\QTW W .............. W
(A) Pragmatic conception of (A) A FEART HAEHRTT
knowledge N
(B) 999 €S gIEahA
(B) Vital conscious attitudes
(C) ISR R
(C) Social reforms
(D) 3rnfirentenTo
(D) Industrialisation
25. Secular traditions in education in 25. WIRAM feramdier eHfRaE T
India does not support : A SER T AR
(A) Multicultural education (A) Sgarpfas e
(B) Positive discrimination (B) ®FlcHsh 98
(C) Religious education (C) wnfHer foremm
(D) Modernisation (D) 3TYfTehlehTTl
13 [P.T.O.



26.

27.

Social equality is mostly supported

...........

(A) Capitalism

(B) Anarchy

(C) Monarchy

(D) Socialism

Differences in the society is based

on socio-economic aspects such as

wealth, power and prestige is known

...............

(A) Social change

(B) Social mobility

(C) Social progress

(D) Social stratification

26.

27.
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TSR THdeN Faid S SR

75 frrad.

(A) TSI

(B) 3G SHRUR

(C) TI3me

(D) HHISER]

T, TRt o Yiasal AR QrHTfSieh -

3Tfefeh Yofar SMERIa TSI WIehi=T

(A) FrHTfSIeR Iftedq

(B) @HIfSTeR  TIfdTerd

(C) grIfSles YT

) IEIGISE RS ETU

14
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28. Which of the following statements | 98 wEeiteiden! hivd fauM™ seX ATE ?
is not correct ?
(A) Toreromges roifsres aftads 8@
(A) Education leads to social change
(B) Social change influences (B) wIfs wierdr= fraomen g
education Teql
(C) Education leads to social (©) Reoms Tl TRt Ee
mobility
(D) Social mobility is a hindrance (D) e eeerd & e
to education TS 38
29. School is a miniature .............. 29. el & T =t B wiagdl 2T
(A) Society (A) FHS
(B) Politics (B) TSTeRTOT
(C) Economy (C) 3referry
(D) Organisation (D) e
30. Education leads to ............ 30. fareromges e .
(A) Political and social control (A) TSRTE S wrEee T
(B) Political and social peace (B) TS T s i
(C) Political socialisation (C) TSR SR
(D) Imbalance in political and D) T § SR e
social system .
SHIH
15 [P.T.O.



31.

32.

Indicators of individual modernity

.........

(A) Geographical mobility,
democratic and social atti-

tudes

(B)

Wearing of western clothes

©)

Education in English medium

schools

(D) High rise buildings, techno-

logial modes of communication,

well laid out roads

Family provides

education to a child.

(A) Distance mode

(B) Formal

(C) Non-formal

(D) Informal

32.

MAY - 70216/II—D

o oA
HHISTen g belenlq

(B) TREIE 9% URYM 00

(C) SUSH AIEqHT=A1 IMearqed f¥reqor o0y

(D) TS ARG, SoUdeuIe qlfeh

TR, geAafed &
o T e e
(A) T
(B) sir=ien

(®)) =R (Non-formal)

(D) &St (Informal)

16
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33. School is a social institution because | 33  ¥esr & wH WEITE WL AR, HRO
it
(A) Preserves and instills A) & . e — :
knowledge, ideas and culture in Lo .
TLhdl I/ Saq 9 gasEd wld
future generations
(B) o gmifeieh W AE Ao TreH
(B) Suggest ways and means of
. SEIEN
social progress
C) ot wmISeh HE R Jr
(C) Suggests solutions to social ©)
problems g
(D) Is established by the society to (D) foelt Forsm fafere. eyt
fulfill specific functions T hefl 378
34. The scope of educational sociology | 34. Sierfores THSETSET ==&
11T —_— 3
(A) Determining the individual
: . A) foreromr=ar dafaasw <39r=
aims of education
(B) Studying education sociologi-
cally (B) wHIfSTehgsean foreomen s1vmy
(C) Developing new knowledge R - .
(C) TdaM AMEE TdhdH
(D) Studying  behaviour  of
(D) fommeft acmEn S1eamd
students
17 [P.T.O.



35.

36.

Sociology of education is the study

(A) sociology and education

(B) how sociology is used in

education

(C) why sociology is used in

education

(D) how social institutions affect

education and its outcomes

At any stage of development,
individual’s behaviour is nothing

but an end product of heredity and

environment. This is the

(A) Principle of Interrelation

(B) Principle of Interaction

(C) Principle of Integration

(D) Principle of Uniformity

pattern

36.

MAY - 70216/II—D

(C) TSRS FRI&T0Md 1 ST shell
ST

(D) grTSTeh geeqT fRreromer e gfoms
HIIE ST A=t Hied

SR ISl faermEr=ar  3Ta%ed

eRiT I § TTa o IRIEde wied

(A) ATTEIEE I

(B) AaRfshaa o<

(C) THIHHIOME d<a

(D) M SAFdEE aw

18



37.

38.

Anushka has just begun to use

inversion and reciprocity in her

.........

thinking. So she must be in the

age group

(A) 1—5 years

(B) 6—10 years

(C) 11—15 years

(D) 16—20 years

While teaching teacher should have
short term objectives that can be

realized instead of long term

.........

objectives. This is related to

theory of learning.

(A) Tolman’s

(B) Clark Hull

(C) Guthrie

(D) Lewin

37.

38.
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SThT foaR I SAXdteRTor AT
TERAT = SE90l SUANT Jehdid

HYAC ATl 38 %[ fa=n a4

(A) 1—5 90
(B) 6—10 =
(C) 11—15 9%

(D) 16—20 o

AT LT TReThT g SfEseiterstt

o

qeoded BIaiel SR dlcehlicleh Siese

(A) TreTHH
(B) il &
(C) Tt

(D) ifed

19

[P.T.O.



39. After the teacher enters the

40.

classroom, students avoid making
noise. This is an example of .............

type of learning.

(A) Discriminatory omission
learning

(B) Escape learning

(C) Discriminated punishment
learning

(D) Discriminated operant learning

Thurstone’s Multifactor theory can
be represented by the

formula.
A I=G+(S;+ Sy +

(I = Intelligence, G = General
factor, S = Specific factor)

B) I=[(G+S57)+(G+Sy +
G + S,

(C) I=[PMA, + PMA, + PMA,
PMAg]

D) I=[Gy+ S +(Gg+Sy) +
G, + S,)]

---------

39.

40.

MAY - 70216/II—D

TRageriAT sl Yo shearal forneff v

HLOI 2sdld § Sergdul

TRl AT 3.

(A) qrAfTeR Ao 3TeEd

(B) JaEH fohal geoh sTeaad

(C) drafer feenm etemzm

(D) dicAf-eh TIeeh 3AETTH

RS SIgEEeh SYUN! AT YA HREAM

Teiferedt Sd

A I=G+ Sy +855+

(I = FfgH, G = FAAH =,
S = fafyre =)

B) I=[G+ Sy +(G+Sy) +
(G + S,)I

.........

(C) 1=[PMA, + PMA, + PMA,
PMA]

G, + S,

.........

20
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41. We have to determine the scale | 41. W&efferieht =" SRINEIGIEIRCINEEIS]
value and quartile value for every Yok e Sofites 9 egdeRded e
statement while preparing .......... SIUE
(A) Likert’s Technique (A) fawda o=
(B) Thurstone’s Attitude scale (B) oA IRAMSE S0
(C) Guttman’s scale (C) TeHT=t St
(D) Binet’s Intelligence scale (D) fote=t gfgAra it

42. “Motivation is not necessary for | 42. ‘37eqZATEIS YU AR THCAT qU
learning but it determines where a faaneats /Y™ e QIUAETSt Yo
learner should focus his attention.” SugEd XA’ =@ faenad @welq
This statement is supported

pp ........... _q.l_’_ﬂ. w 311%
[0 /PP
SR T
(A) E.R. Guthrie (A) = 1
(B) Kurt Lewin (B) F Hfer
(C) Edward Tolman (C) TeaE et
(D) Robert Gagne (D) s T

43. According to ............. reading books | 43, wdiem a9 HURA ARG forenet Tk
is a motivation for achieving success 1 A B £ | E i e
in the examination. R,

(A) Cognitive theory (A) SECHF STTRT
(B) Expectancy theory (B) sTafeEen ST
(C) Arousal theory (C) STTEF ST
(D) Drive theory
(D) WreleAT Sud
21 [P.T.O.



44.

45.

46.

Rajaram has never reached the
finals in any of the athletic meets
but imagines himself running at the
Olympics and returning home with
a gold medal. This is an example of
............... defence mechanism..
(A) Projection

(B) Day dreaming

(C) Rationalization

(D) Compensation

of

Mathematics, so she needs assitance

Heena avoids study

(A) Psychologist
(B) Psychiatrist
(C) Guide

(D) Counsellor

Alia’s intelligence quotient is 85,
then according to Sandiford’s
classification she will be in the
category of ...........
(A) Moron

(B) Below normal

(C) Normal
(D) Imbecile

44.

45.

46.

MAY - 70216/II—D

Storfafesa=an Sifan Hiqdd TSR YR
Tehell ATal, W Slclftasheal Sraudr=
TR Gaviaee fHesad s TRa STersi
HeTT LT, ¥ SeTedur T TRET
TAUE IR

(A) F&To

(B) fearasism

(C) T\eA

(D) gfagRoT

BT TR ST O . WU
............. ?:ﬂ qur\l.qr\[ \-quQqq')(”

(A) ATTHRTER
(B) AMEM=RASS
(C) HATIGEieh

(D) FHIRIH

sTferara gk 85 oHa | Aehe

AT AR OgaR o=

HARY B
(A) RIS
(B) 39 9=

(C) §H=

(D) SEgEl

22
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47. ‘The personality of the person can | 47. ‘TEmEn =G AfFHE A=A SiaH-
be understood by studying one’s StefraeT U Bal 39" @ faEn
style of life.” This thought was given | ... i e
by ....... A) i
(A) Maslow 5
(B) Adler (B) HS®
(C) Freud (©) wre
(D) Eyesenck (D) T

48. Laboratory experiments are | 48. TARTSMeSd el iy EIGASIGIG
conducted : (A) wEfiTeR A aTaEd
(A) Using anecdotal records (B) wasiigds st @ fasia
(B) Under carefully arranged and Hhotedl TR

controlled conditions (C) offed W Afiehed aTa&d
(C) Using Latin Square Design (D) T& Tl (Subject) 31fTshey
(D) Using Single Subject Design Cleteul

49. The following is not an example of | 49 w@reftertent =" LB ER MR

descriptive research : ICTEL0 AATEl.

(A) Correlational research (A) TEHECHE GINeH

(B) Survey research (B) gderur gemed

(C) Causal-comparative research (C) HILOTHIHTET NELSIED RS MIEOE]
(D) Pre-test Post-test research (D) lLOIFt{It{Ulr\l—drlit{lt{Ulﬁl TINeA

50. Historical research should | 50. Ufqerfges FenemAmes I
include ......... TR e uEs.

(A) Internal and external criticism (A) T aTafes s A S
of data . o
(B) Reliability coefficient for tools (B) ST 199l Seer
(C) Factorial design (C) wehTHe AfHhed
(D) Counter-balanced design (D) FRR-TTT S Ricaa
23 [P.T.O.
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